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[USE OMRTOR ORJEC TIVE PART

Duration: 3 hrs.

[ Objective |

Time: 30 min.

Choose the correct auswer from the following:

1. The binary addition T+1+1 gives

a. 11l b. 10
c. 110 d. 11
2. The number 1000 is c.wivnlvnt to decimal number
a. One thousand b. Eight
c. Four d. Sixteen

3. The only function of a NOT pateis to
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a. Stop a signal b. Re-complement a signal
} > [}

¢. Invert an input signal do Act as a universal pate

4. A NOR gate is ON onhv when all its inputs are

a. ON b. Positive
c. High d. OFF
5. An SR latchiis a
A Combinational circuit b Synchronous circvit
¢ One bit memory elerient d. One clock delav ciement

6. i a sequential circuit the output state depends upon

a. Past output states andd present input L. Input states only
states
<. Inputand outpit seotes d. None of these

=3

According to the algebra of logic, (A + A) equals
a A b. |
0 doan

The expression ABC can be simplibed to
S Ae el h. AB+ BC+CA

€ AB+C d A+B+C
9. D-Flip tlop can be cont gured froma

a. |-K Flip flop and avinverter b, R-5 Flip tHop
RS Flip flop amad an “averter d. J-K Flip |‘|(J|‘
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10. Boolean algebra is essentially based on
a. S5ymbols b. Logic
c. Truths d. Numbers

1. The frequency of osallation of an astable multi-vibrator depends mainly on the

a. Value of collecter load resistor b. RC value of the circuit
¢. Value of transistor 3 d Width of the iput pulse
12. Firstintegrated ciicuit chip was developed by
a. C.V. Raman b. W.H. Brattain
c. ].S. Kilby d. Robert Novee
13. Anintegrated circuit is
a. A complicated Creui b. Anintegrated device
¢. Much costlier then a single transistor d. Fabricated or a tiny silicon chip

14. Most important ad antage of an 1C is its

a. Lasy replacement ir case of circuit v Extremely high reliability
fatlure
€. Reduced cost d Low power ccasumption
15. A microprocessor is Al U
4. And control unmit on a single chip b. And memory ona single chaip
<. Register unit and 1/0 deviae onia d. Register it and «ontrol anit on
single chip singie chip

16. The signal to be viewed on the screen of an oscilloscope is apolied
A Across its X-Plate b. Across its Y- Plate

¢.To the horizontal amplifier d. To the triggered circuit
17. The digital system isuallv operates on svstem,

a. Binary b. Decimal

c. Octal d. Hexadecimal

18. Alogic gate is an electronic circuit which
a. Makes logic decision

=

< Allows electrea How only in one
direction
¢. Works on binary alpebra doAlternates between 0 and 1 values

19. According to the Absorptive Laws of Boolean algebra, expression (A+ AB) equals

a. A b. B
. AB d. Ae A
20. The time penod of 10-555 mono-stable multiv ibrator aperation s
a8 RO b. 1.1 RC
c. 145 RC d. 138 RC
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Time: 2 hrs. 30 mia.

[Answe - question no.1 & any four (4) from the rest ]

!\J

What is the advantage of I-K Flip tlop over S-R Flip tiop? How is

an S-R Flip Hop converted to ]-K Flip tlop? Write the truth
tabie for J-K titp flop and convert it to characteristics table and
excitation table.

a.What is a binary coded decimal? Write the following numbers
in BCD code: 157, 2498 and »73,
b. Write the steps involved in 275 complement snbtraction. Use

2's complement to subtract 10190 trom 1101,

c¢. Find the decimal equivaleni of the tollowing binary numbers:

101, 1001 and 2011
a. Draw the equivalent diode velay cireuit of an AND gate and
explain the operation.

b, Sketch the symbol and construct the truth table for XOR and
N.‘\Nl) uﬂlt“ﬁ.

¢. Draw a logic circuit for the Boolean expression

v = AeBeC s (A B)eC

a.Using the tuth table, prove that A+ AB = A+ Band illustrate
the equivalenee with the help ol a switching, circuit.

b. Simplify the Boolean expression
ABC + ABC + ABC + ABC + ABC

c. Prove the Boolean identity (A+B) (A+C)= A +BC

Marks: 50

244
=10

$+3+3
=10

A2
=10

44244
=10
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6.

8.

a.

b.

a.

b.

Draw the block diagram, write the truih tabie tor a
hexadecimal to binary ncoder and pupiement it using logic
pale,

Construct a 81 MUX using a -1 NUNX,
With the help ot a neat and Iibeled diagram explain the
working of an  astable multi-vibrator.

The components of IC-5355 Timer astable multi-vibrator is

given as: RA=7.5 K, RB=7.5 kQ, C= 0.1pF, VCC=5 V.
Determine the trequency.

Mention the advantages of 1Cs.

Differentiate between Linear 1Cs and Digital 1Cs.

Draw the block diagram of the SO85A Microprocessor. Explain its
organization and operation.

4 USTAC Ot

6+4=10

S158=10



